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Gauss’ Test

Suppose α, β, and γ are any real numbers not in Z≤0 = { 0,−1,−2, . . . }, and consider
the following power series:
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This is what used to be called a hypergeometric series before the more general definition
used in our textbook came along.

1. Why are the constants α, β, and γ not allowed to be 0 or any negative integer in the
definition above? [1]

2. Show that Newton’s binomial series is a series of this type. [1]

3. Determine for which values of x this series converges absolutely, converges condition-
ally, and diverges, respectively. [8]


